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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given  

therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of twenty (20) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, chl ¼20½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discus the impact of international trade on economic 

development of a country. Describe the advantages and 

difficulties in international trade. 

vUrjkZ”Vªh; O;kikj dk fdlh ns’k ds vkfFkZd fodkl esa izHkko 

dk o.kZu dhft,A vUrjkZ”Vªh; O;kikj ds ykHk rFkk leL;kvksa 

dk o.kZu dhft,A 

2. Explain the meaning, dimensions and stages  

of globalisation. What are the ill-effects of 

globalisation ? 

oS’ohdj.k dk vFkZ] foLrkj rFkk pj.kksa dh O;k[;k dhft,A 

oS’ohdj.k ds cqjs izHkko D;k gSa \ 

3. What are the major theories of international trade ? 

Explain with suitable example. 

vUrjkZ”Vªh; O;kikj ds izeq[k fl)kUr D;k gSa \ mfpr 

mnkgj.kksa }kjk O;k[;k dhft,A 

4. Explain the factors affecting the FDI flow into a 

developing country. 

fodkl’khy ns’k esa izR;{k fons’kh fuos’k ds izokg dks izHkkfor 

djus okys dkjdksa dh O;k[;k dhft,A  
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer six (06) questions only.  Answer 

of these questions must be restricted to two hundred 

fifty (250) words approximately. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA izR;sd iz’u dk mŸkj nks lkS ipkl ¼250½ ‘kCnksa ls 

vf/kd ugha gksuk pkfg,A 

Briefly discuss any six (06) of the following : 

fuEufyf[kr esa ls fdUgha N% ¼06½ ij la{ksi esa ppkZ dhft, % 

1. Functions of World Bank. 

fo’o cSad ds dk;ZA 

2. International Product Life Cycle theory. 

vUrjkZ”Vªh; mRikn thou pØ fl)kUrA 

3. Branding problems in international marketing. 

vUrjkZ”Vªh; foi.ku dh czkaÇMx leL;k,¡A 

4. Functions of foreign exchange market. 

fons’kh fofue; cktkj ds dk;ZA 

5. Political trends and international business. 

jktuhfrd izo`fŸk;k¡ rFkk vUrjkZ”Vªh; O;kikjA 
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6. Trade Strategies. 

O;kikj j.kuhfr;k¡A 

7. Difference between balance of trade and balance of 

payment. 

O;kikj dk larqyu rFkk Hkqxrku larqyu esa vUrjA 

8. Management Contracting. 

 izca/ku vuqca/kA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, % 

1. The balance of payments of a country on current 

account is equal to balance of trade plus net invisible 

exports.   (True/False) 

fdlh ns’k dk Hkqxrku larqyu pkyw [kkrs ij] O;kikj larqyu 

rFkk vn`’; fu;kZr ds ;ksx ds cjkcj gksrk gSA ¼lR;@vlR;½ 

2. NAFTA is an example of free trade area. (True/False) 

NAFTA eqDr O;kikj {ks= dk ,d mnkgj.k gSA  

    ¼lR;@vlR;½ 
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3. SAARC is not an international organization.  

     (True/False) 

SAARC ,d vUrjkZ”Vªh; laxBu ugha gSA ¼lR;@vlR;½ 

4. The major objective of IMF is to help economically 

backward countries. (True/False) 

IMF dk izeq[k mn~ns’; vkfFkZd :i ls fiNM+s ns’kksa dh 

lgk;rk djuk gSA   ¼lR;@vlR;½ 

5. ICICI is not an international financial instigation.  

     (True/False) 

ICICI ,d vUrjkZ”Vªh; foŸkh; laLFkku ugha gSA ¼lR;@vlR;½ 

6. Foreign exchange and foreign currencies in India are 

governed by RBI. (True/False) 

fons’kh fofue; rFkk fons’kh eqnzk,¡ Hkkjr esa Hkkjrh; fjtoZ 

cSad }kjk lapkfyr gksrh gSaA   ¼lR;@vlR;½ 

7. UNCTAD stands for ............... . 

UNCTAD dk foLrkj dhft, 
-----------------------

A 

8. Arrangement where one party grants another party the 

right to use its trademark as well as business system 

and process to produce and market a good or  

service according to certain specification is called 

franchising.  (True/False) 

,slh O;oLFkk tc ,d ny fdlh vU; ny dks vius O;kikj] 

fpUg] O;kikj iz.kkyh] mRikn mRiUu djus dh izfØ;k rFkk 
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mRikn cspus vFkok dqN fo’ks”k fooj.k ds vUrxZr lsok iznku 

djus dk vf/kdkj nsrk gS] rks mls Ýsapkbftax dgrs gSaA  

    ¼lR;@vlR;½ 

9. The theory of absolute advantage was pioneered by 

Adam Smith.  (True/False) 

iw.kZ ykHk fl)kUr ,Me fLeFk }kjk izfrikfnr fd;k x;kA  

    ¼lR;@vlR;½ 

10. Quotas is an example of non-tariff barrier. (True/False) 

dksVk xSj&‘kqYd vojks/k dk ,d mnkgj.k gSA ¼lR;@vlR;½ 
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